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Reg. No.

V Semester B.Com. Degree Examination, March - 2021
COMMERCE
International Financial Reporting Standards
(CBCS Scheme Fresh)
Paper : 5.2 (IFRS)

Time : 3 Hours . : Maximum Marks : 70
Instructions to Candidates:

1)  Answers should be completely Either in English or in Kannada.

SECTION-A
QTN —
Answer any Five sub-questions. Each sub-question carries two marks. (5%2=10)
CRTOEOR VD CB-BIRIR WWI0A. TS OTB-TIH 0 GOFD.

1. a) ExpandIASCand MCA.
IASC =2y MCA o3, R0

b)  Define the term inventory as per IndAS-2.
IndAS-2 T 50 oA HWBW, WTRAA.

=
-

c) Give the meaning of statement of changes in equity.

QIRORY  WTCITT/AY BePIOD VPFID, JRR.

d)  Give the meaning of non-controlling Interest.

QONOEAT WAL ©TF 39A.

e) Givethe meaning of warrant.
ATNDEIOD OTE 8PA.
[P.T.O.
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f)  Whatis consolidated statement of financial position?
D3CE0RT SHFT R80D TeLT POWTE?

g)  Givethe meaning of Acconting policies as per Ind AS 8.
Ind AS-8 T TFo0 SEHE QedNG SFEZE, S9A.
SECTION-B
Oy AT
wiRn—W
Answer any Three questions. Each question carries six marks. (3x6=18)
PRI RTTR HeD TFNRYA U8R TS TINL BT BOINRL,

2.  What are the disadvantages of IFRS?
[FRS & Smm03eondd), a9A.

3.  State the contents of Interim financial statements.

= — e —

DFOTT TR HEPTORN  DTWODT, S9A.

4. ABC Lid. hasa cariying value of 2,00,000. An impairment review shows that the recoverable
amount is 1.10.000 and that the intangible assets have anet reahsable value 0£20,000.The
assets making up of ABC Ltd, is as follows.

Goodwill = 30,000 3
Intangible Assets 50,000
Tangible Asset 1,20,000
2,00,000
Calculate impairment loss and show how this would the allocated.
AVB 2ENTH 2,00,000 BPOT BPOBI, TRODB. 2.0 VRETHORCTHODR

> 5
WOSeOAT TFIT, m@m&ra%zumcrd z’iraea@ 110,000 =28 ¥5g, N 20.0005
o =

S

a:jjb DI DRID fﬁo@wm& mo@ms}s.
2 22 2ERBRPYAR @@Jﬁ@é
Dowed (3e3FmPe) 30,000

OIF SR 50,000
AR €& 1,20,000
2.00.000
DWFY TRII, J‘% 30 SRV B VB, Ben TOBWCAMBT D0LNTZR, 35e02)!
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5. From the following Trial Balance of Kumari Co. Ltd, as on 31-3-2020. prepare a statement
of P and L account as per schedule III of the companies Act.

Particulars Amount (Rs.)
Bad debts 1,00,000
Conveyance 1,20,000
Loss on sale of machinery 1,40,000
Employee Benefits expenses 1,50,000
[nsurance 1,5 0,000
Closing stock 7,50,000
Depreciation and Amortisation

Expenses 1,00,000
Purchases of stock in trade 5,00.000
Opening stock 5,00,000
Cost of materials 5,00,000
Sales : 50,00,000
Tax during the vear 3,50,000
Other Incomes 1,00,000

31-3-2020 D02 RIWO TOBJ/OD ISAD 02590201 FH3OTOOT 2003 =08
mﬁ 030N DY ?—‘:@53& sozanyg o B T5o0 BOSTDA.

9

a=ons _ R3e3 (3R.)
863, MON 1,00.000
e ' 1,20.000
OHOBRY BRTT 5  1.40,000
POTWREN TOLPT dz‘gdr{@éa' 1.50.000
sy 1,50,000
BB BT ~7.50.000
Amge ey e, S 1.00,000
SRIRCHY AN D0LNE 5,00,000

[P.T.O.
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ESTO0RT AT 5,00,000

BHNY & 5,00,000
JoT0E3 50,00,000
Iz 300 | - 3,50,000
| 983 Smeond 1,00,000
6. X Ltd acquires all the shares of Y Ltd on 1-4-2019. The profit and loss A/cof Y Ltd has a
credit balance of Rs. 600 on 1-4-2019. From the balance sheet given calculate cost of
control.
Assets X1td YLtd
Land and Building 40,000 27,000
Machinery 20,000 10,000
Furniture 5,000 2,000
" Investments in Shares of Y Ltd 50,000 -
Inventories 15,000 8,000
Debitors 10,000 6,000
Cash and cash equivalents 5,000 2,000
1,45,000 55,000
Equity and Liabilities
Share capital (Rs.10) 80,000 30,000
Reserves (1/4/19) 21,000 4,000
P/L Account 5,000 3,000
Sundry creditors 35,000 16,000
Bills payable 4,000 2,000
1.45,000 55,000

oF e = Omd, ooy ReBRYEy 1-4-2019 Dot mpETBLELNIS.

=

203 RGP DB IF, 098 1-4-19 Towd Tw. 600 T

S RRIECOTBRY

2R00DE. NEE ST SeR90n wWoBmed oy W VOPOTHRT  WEIH)
D N — & <

@5&?5-;0‘ 2RR.
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Tries X Ltd YLtd
' BAM HI) FIEAD 40,000 27,000 °
o3 20,000 10,000
2eBRTITL - 5,000 2,000
SRRV ReHNG BRI 50,000 b
TR 15.000 8.000
TROTOT 10,000 6,000
ST B [N [ 5,000 2,000
niy 145,000 55.000
a3 DD BRVBMOINT
Redh woBme Se. 10 80,000 30.000
S3emeanedy (1-4-19) 21,000 4,000
oRE ORI IF 503 + 5,000 3.000
2DNT FOIDH 35,000 16.000
TOBSTIIRT DIRTAD 4,000 2.000
263 1.45,000 55,000
'SECTION-C
j QTN-2
: Answer any Three questions. Each question carries fourteen marks. (3%x14=42)

CSRFTRTIR D TJFR 20308, B TIRR 14 BT

- =<

7. a) Mention the disclosure requirements of operating segments under Ind AS - 108.

Ind AS - 108 T EFoT TOIRFBTROD VGRNNE WHLTONBRRB SVFFTENTI)Y
ugeada.

[P.T.O.
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b)
8. a
b)
9. a
b)

List out any ten Indian Accounting standards [Ind AS]issued by ICAI and notified by
MCA. :

ICAI ReESAIT 0SRRTRTCR B LOBoHT OO F OBEE T
GAIMVDLE B 20AD ARWAD.

Briefly explain features of IFRS.

[FRS 3 ogrerga AosTmoN 2E0A.

Explain the disclosure requirements of related party disclosure IndAS - 24.

®g "OWOD BFREBOD TFWE ©BBITONT, 230% Ind AS - 24

Calculate the carrying cost of machinery and write notes.

On 1st July, 2020 Nagraj Manufacturers spent Rs. 48,000 to replace their machinery.
The Machinery had been acquired S years back. and had a carrying value atJ uly 2018
amounting toRs. 1,1 5,500, of their amount Rs. 10,500 related to original machinery.

00ING MONFE BYEHDY 850 WP THT) LITEONTY 203000.
1-7-2020 TOTH FONTE 303503033 B, 0OBRTTY, @Oy 48,000 Te
D TSRATHTVT. &5 OPOSTe, T BRENRG B0oT3ode :@@Eﬁ&dﬁ@%éﬁo@@a
B wd; 2018 3¢ wwT ARNAD BRTT) 1,15,500 S SNTY; 9TOE WPV
oo3nRen Roeohad Bed 10,500 TP u%ﬂaﬁégjd)g’cﬂ.

Following is the trial Balance of Saanvi Mineral Ltd for the year ended 31-3-2020

Particulars Debit (Rs.) Credit (Rs.)
Equity share capital - 10,00,000
Capital Reserve - . 1,00,000

" Non-current Liability ' 16,00,000
Pand LA/C 80,000
Current Liability 12.,00,000

Tangible assets 16,00,000
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Intangible assets ' 6.00,000

Current Investments 2,00,000

Inventories 1,80,000

Other Non-current Assets 4,00,000

Trade Receivables (Current) 2,00,000

Cash and cash equivalents 8,00,000

Total 39,80,000 m

Prepare statement of financial position as on 31% March 2020 as per schedule III of
companies Act 2013. ‘

31-3-2020 T w02 33"&?% ARY, SIQWNY @&D&\%C{{ PN Bedeen ATHAReORO0T.

PAGIT IS FOF(CR) 3RS ()
mm“aéé WL WOBIY 10,00,000
LWOBROE RN 1,00,000
STRT BARMWOS 16,00,000
ooy B TF 203 80,000
TR3 Liabilities Semmos 12,00,000
3, Rned 16.00,000
SR AR ‘. 6,00,000
TI BRBIRD 2,00.,000
TR 1,80.000
283 STBRZ FBMD 4,00,000
WRIRT ALTTITE  (TAE) 2.00.000
SN BB FIFRE 8.00,000

wiy  39,80,000  39,80,000

[P.T.O.
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10.

a)

PQR Co. Constructing power generation plant. This project requires totally 12 crores,
which are raised as follows:

1) Rs.4 Crores from IFCI for 10 vears (@ 11% interest rate.

if)  Rs.2 Crores of loan from HDFC bank for 6 years (@ 10% interest rate.
iii) Rs.2 Crores of loan from SBI bank for 4 vears @ 12% Interest rate.
iv)  Rs. 3 Crores from 10% debentures for 5 vears (@ 5% discount.

V) Rs. 1 Crore as overdraft from corporation bank (@ 4% interest rate.

vi)  Out oftotal borrowed fund Rs. 5 crores are kept in HUDCO bank as short term
deposit for 6 months (@ 5% rate.

vil) IFCI bank loan is borrowed through consultation and the consultancy charges
are 2% of'total loan amount calculate total borrowing cost accordance with Ind
AS 23,

i)

QR 3T dsmwerd 38 WOBILTD WO, B cdeenIR Fomerormon 12 dmesd
TN, aRNIR, B85 F9NT0Z e3SReerhI. '

D) 10 IR 1% 28, IFCIeRos 4 el deo.

£l

©n

ii) HDFC ER0FA0T 6 B[RFT 10% WBEHTHOT 2 Feetd Te. .

iii) SBI TROF0T 2 Brckd de m®§ 4 ImFE @ 12% 28 TT.

N

iv) SHE @5% O03wewR 10% @e30EIECT 3 2wesd dn.,

Ved

V) WEReESEN mRoTon 4% VB TTOOT 1 ekl T, BT EET,

Vi) 823 ATI JTED AHNTY 5 '”m@@ééﬁ%féﬂa& HUDCO DROFIY VO DHOD

SeSedoin 6 dond @5% TOTY ORI,

vil)) ADPSBReES DB AOTD OB w3 Beased IFCI 23903°0T ROTI,

DTTD TR 2ot WO TRIROTY 2% I3

Ind AS - 23 BnodR 288 TN ﬁzgp @é&am& e%&zsad wIRE.
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B} F ollowing is the balance sheet of Viranna Ltd, as on 31-3-2019.
Particulars Amount Amount
Assets

Non-current assets

Land and Building B 6,00,000
Equipment | ' 4,00,000
Plant & Machinery 2.00,000
Current assets
Stock 1,00,000
Cash 50,000
B/R 2,00,000
Bank 1.00.000 4,50,000
Total 16,50,000°

Capital & Liabilities

Shareholders fund
Share capital 9.00,000
Reserves & surplus | | '
P&ILLA/C 4,00,000 _
Reserve 2.50.000 6,50,000
Current Liabilities 75,000
B/P 25,000
Total . 1650000
Adjustments:-

1) Minorities hold 40% of shares of voting rights and shares in viranna Ltd. On
31-8-2018 on thatdate Pand L A/C of viranna Ltd. Stood Rs. 50,000 and reserves
Rs. 1,00,000. :

2)  Fair value of L and B is Rs. 4.00.000 and that of plant and machinery is Rs.
4,00,000 which are to be brought into books for calculation of interest of parties.
Depreciation is to be ignored. Calculate NCl asper Ind AS - 110.

[PT.0.
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b)

Following is the balance sheet of Viranna Ltd, as on 31-3-2019.
Particulars Amount ‘Amount
Assets

Non-current assets

Land and Building , 6,00,000
Equipment | - 4,00,000
Plant & Machinery 2,00,000
Current assets
Stock 1,00,000
Cash 50,000
B/R 2,00,000 .
Bank 1.00.000 y 4,50,000
Total 16,50,000
Capital & Liabilities
Shareholders fund
Share capital 9.00,000
Reserves & surplus | | y
P&LA/C 4,00,000 _
Reserve 2.50.000 6,50,000
Current Liabilities - 75,000
B/P 25,000
Total : 16,50,000
Adjustments:-

1)  Minorities hold 40% of shares of voting rights and shares in viranna Ltd. On
31-8-2018 on that date P and L A/C of viranna Ltd. Stood Rs. 50,000 and reserves
Rs. 1,00,000.

2)  Fair value of L and B is Rs. 4,00,000 and that of plant and machinery is Rs.
4,00,000 which are to be brought into books for calculation of interest of parties.
Depreciation is to be ignored. Calculate NCI asper Ind AS - 110.

[P.T.O.
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2R3 (3R.)

6,00.000
4,00,000
2,00,000

100,000

50,000
2.00,000

4,50,000
16,50,000

' 9.00.000

4,00,000
6.50,000
75.000
25,000
16,50,000

) ©0705330 HIGeS BRYNT Je 40 IR, ReonegD), SwodTy,
N a%éro&%csw S wed*a Bean3
80P Bwe. 50,000 B E’Oﬂfwﬁ%b 3. 100 000
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‘11.

PARMRSSIVCR S CIRACIAY T FE 4.00.000 Te. DB ABT WS ohone
&) - >

SR 4,00,000 Te. ©NT.

e%‘u;md o0,

From the following details prepares others comprehensive Income for the year ended
31-3-2020 of Raja Ltd. :
Particulars : Amount

Remeasurement losses on defined pension plans 54,000
Losses on investment in equity Instruments 30,000
Income tax relating to-items that may be reclassified 12,000
Cash flow hedges _ Tk 18,000
Available for rate Financial assets _ 30,000
Share of gain on property Revaluation 60,000
Exchange difference on translating foreign operations 72,000
Gains on property revaluation 84,000
Profit for the year 4.20,000
Non-controlling Interest 72,000
% 29NS ODOReod Tow OMmEE 930 mEn STRoP®I, 31-3-20200
©0ZF I03ROA. .
QTTRLD Seg (de.)
mﬁméa%cﬁ 202368 C3ReRING DT TRTIT IFNW (54,000)
LIS POTITLNTRY, BRBICD eI JIFNW (30,000)
DTOVGE BIRBLIBIT DTRANTTY, TOWOHAT ST 3or (12,000)
SNTD TOFZYNED (18.000)
BRTUT BEVTOAY SANYN OBT ‘ 30,000
B abaﬂdoaieﬁécﬁ e CoLPT TV 60,000
DTed FIOIE WTBNYDY, GRTWOSOA QAT BIOA 72,000
Shl ms&%ewsd a0ee3 ey 84,000
DRED Y 4,20,000
QOH0oZEE LITBE LBRT 72,000
[PT.O.
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b)  XYZ Ltd acquired 5,60.000 shares of Rs. 10 cash in ABC Ltd on 1-10-2019. The
following balances are extracted from the balance sheet of ABC Ltd as on 31-3 -2020.

1) Share capital 70,000 shares of Rs. 10 each.

i) General reserve (on 1-4-2019) Rs. 14,00,000

iii) P/L A/c(on 1-4-2019) Rs. 22,40,000

iv)  Profit during the year 2019-20 Rs. 12,00,000

Calculate Non-controlling Interest

XYZ Oonedw®, 1-10-2019 00T ABC ©Oooslns S9 L. 10 3 5,60,000
ﬁe:’cr{@a’% @@fﬁﬁ@ﬁ;&rao@“’@o. BOOHT 398 31-3-2020 008 ABC Onums
;mxuommd BB .

1) WOBWEE 7,00,000 Redned TS Hed, B8 e 10

i) IRFY wesed (1-4-2019) dw. 14,00,000.

i) ©of =B IF wed (1-4-2019) S®. 22,40,000

v) 2019-206@2 e Tw. 12,00,000.

Novlein] BRENIR, S8nT SRE.




